UNIT 7 – WORLD POPULATION

I. PRONUNCIATION:

A. Pick out the word whose underlined part is pronounced differently from that of the other words.
1. A. clean

B. cleanse

C. cleave

D. cleat

2. A. glad


B. gland

C. glare

D. glass

3. A. grub

B. gruff

C. grumble

D. gruel

4. A. crow

B. crown

C. crowd

D. crowded

5. A. quick

B. quid


C. quiet

D. quickie

6. A. climb

B. uncle

C. include

D. clown

7. A. queen

B. quality

C. quay

D. quarter

8. A. queue

B. quick

C. quiet

D. quit

9. A. consequent

B. conquest

C. question

D. conquer

10. A. claim

B. musical

C. magical

D. calm

B. Pick out the word that has the stress pattern different from that of the other words. 

11. A. increased

B. figure

C. expect

D. support

12. A. scientist

B. family

C. billion

D. amount

13. A. population

B. university

C. available

D. international

14. A. necessary

B. however

C. continue

D. explosion

15. A. insurance

B. encouragement
C. important

D. properly

16. A. petroleum

B. continue

C. standard

D. awareness

17. A. awareness

B. particular

C. solution

D. implement

18. A. immigrant

B. Indonesia

C. Australia

D. Korea

19. A. developing

B. policy

C. particularly

D. improvement

20. A. continent

B. explosion

C. increase

D. resource

II. VOCABULARY AND STRUCTURE: Choose the best answer:

1. One third of the world’s ................  consumes two thirds of the world resources.

A. people

B. men
       

C. population     
D. human

2. The practice of controlling the number of children a person has, using various methods of contraception is called ................ 

A. family planning
B. birth control

C. population    
D. A & B

3. Since the early 1990s Viet Nam has experienced ................  growth but the differences between the lives of the rich and the poor have been greater.

A. population

B. economic   

C. educational   
D. financial

4. One third of the world’s population consume two thirds of the world’s ................ 

A. materials

B. minerals

C. resources

D. fuels

5. ................ is the number of births every year for every 100 people in the population of a place.

A. Birth-place

B. Birth-rate

C. Birth-right

D. Birth-control

6. A sudden large increase in the number of people in an area is called a ................ .

A. population explosion


B. population crisis

C. population increase


D. population growth

7. China’s population growth rate has ................ in the past years, although its population is still ................ .

A. declined – decreasing


B. dounled – increasing 

C. increased – decreasing 


D. decreased – increasing 

8. It has been predicted that the world’s population might reach the  ................ of about 7 billion.

A. figure

B. amount

C. quantity

D. totality

9. A ...............  is a number representing a particular amount, especially one given in official information.

A. image
B. digit
C. key
D. figure

10. To ............... is to become, or make something become, twice as much or as many.

A. double
B. increase
C. decrease
D. rise up

11. There is a limit to the ............... of pain we can bear.

A. number
B. great deal
C. amount
D. quantity

12. The EU has set trict ............... on levels of pollution.

A. limitation
B. limits
C. stop
D. action

13. The government is considering a policy to equalize the ............... of resources.
A. arrangement
B. distribution
C. order
D. rank

14. It is time that governments ............... levels of environmental pollution.
A. reduced
B. decreased
C. dropped
D. A and B

15. We could make better use of our ............... 

A. environment
B. sources
C. resources
D. atmosphere
16. Today many countries are trying to develop ................ energy resources.

A. winnable
B. sustainable
C. damaging
D. bottomless

17. Life is getting more and more difficult for ................ 

A. the poor people
B. the poor
C. poor
D. poor people

18. Most governments intend to improve ................ of their citizens.

A. the life standards
B. the life quantity
C. the living standards
D. the quality life

19. In 2000, ............... world’s population was about 6.6 billion.

A. a
B. an
C. the
D. no article

20. It is ............... time to do something to control birthrate.

A. a
B. an
C. the
D. no article

21. The lecturer limited himself ............... three aspects of the problem of population.

A. to
B. on
C. within
D. over

22. We’ve certainly improved ............... last year’s figures.

A. at
B. in
C. on
D. over

23. The numbers add ................ to 70.

A. off
B. up
C. in
D. out

24. What percent ............... the population is out of work?

A. for
B. among
C. of
D. in
25. We should do something to help them ............... birth-control methods.

A. on
B. with
C. for
D. in

26. With birth-control methods, women can delay having children.

A. put off
B. take off
C. keep off
D. go off

27. Women do not content ............... their traditional roles any longer.
A. on
B. with
C. up
D. at

28. Birth – control methods have freed women ............... the endless cycle of child – bearing and rearing.

A. from
B. in
C. on
D. away

29. Many people believe that natural resources will never be used ............... 


A. out 
B. up                            C. of

D. away

30. The forecast has revealed that the world’s reserves of fossil fuel will have ...............  by 2015. 


A. run out 
B. taken over 
C. caught up 
D. used off 

31. What’s ................  of your country?

A. populate

B. population

C. populous

D. popular

32. The cost of ................ has risen greatly over recent years.

A. live


B. living

C. life


D. lives

33. The teaching of history shouldn’t be ................ to date and figures.

A. limiting

B. limitation

C. limit


D. limited 

34. China is the most ............... country in the world.
A. popular
B. populous
C. populate
D. populated

35. Many governments are trying to control the population ............... 

A. grow
B. growth
C. grew
D. grown

36. Nowadays, women are more ............... than they used to be.
A. independent
B. independently
C. independence
D. independency

37. We should use our natural resources as ...............  as we can.


A. economic
B. economics             C. economically          D economy

38. They are a close-knit family and very ...............  of one another.


A. supportive
B. support
C. supportion
D. supported
39. Scientists estimate that the world ............... will double in ten years’ time.
A. populate
B. populous
C. populating
D. population

40. The population of the earth is increasing at a tremendous rate and ............... out of control.

A. are soon going to be
B. soon will be

C. they have become

D. why it will be

41. The government ................ increase taxes again.

A. have decided
B. has decided
C. have decided to
D. is deciding

42. The world’s population will continue to rise ............... we don’t do anything about it.

A. how
B. however
C. if
D. unless

43. What would Tom do if he ................  the truth?

A. would know

B. knows

C. has known

D. knew

44. If I ................  you were sick, I would have called sooner.

A. have known
B. had known

C. would have known
D. know

45. If you want to go skiing in the South, ................ to Black Mountain.

A. you go

B. you’ll go

C. go


D. you went

46. If I ................ you, I’d call and apologise

A. am


B. were

C. would be

D. was

47. Jake will win the election if he ................  harder.

A. will campaign
B. would campaign
C. campaigned

D. campaigns

48. If the ball ................  the line, that would have been the end of the game.

A. would cross

B. will cross     C. had crossed   
D. crossed

49. If someone knocked a candle over, it ................  a fire.

A. will start

B. started      

C. would start  
D. would have started

50. If you ................  told us about the bad service, we would have eaten there.

A. hadn’t

B. don’t

C. didn’t       

D. wouldn’t have 

51. If you were given a big prize, what ............... with the money?

A. do you do

B. would you do
C. will you do

D. are you going to do

52. Had  I  known  that  John wanted  to get up early, I ................  him  up.

A. would  have  wokenB. had  woken            C. would  wake  
D. will have woken

53. He  asked  her ................  if  someone  stepped on  her feet .

A. what  she  would  say  


B. what would she say 


C. what  will  she say  


D. she would  say what

54. If someone  ................ in here with a gun, I’d be very frightened

A. walked

B. walks

C. had walked

D. would walk

55. They said to me if  ................ they would go out with me.

A. it didn’t rain

B. it doesn’t rain
C. hadn’t rained
D. would rain

56. Sally  ............... the fax if she ............... in the staff’s office right now.

A. would answer – were


B. answered – were

C. will answer – is



D. answers – is 

57. If I were forced to leave my position, I ................ upset.

A. probably be

B. would have been
C. will be

D. would be

58. I don’t like this flat. I think I ............... happier if I ...............  in a house in the country.

A. am – live 

B. will be – will live
C. would be – lived
D. had been – would be 

59. If I had taken that French course, I ................ much progress.

A. had made

B. would have made
C. made

D. would make

60. Sally ................  the fax if she ................  in the staff’s office right now.

A. would answer – were


B. answered – were

C. will answer – is



D. answers – is 

III. WRITING:

A. ERROR IDENTIFICATION   
1. If you were here yesterday, you would have seen Jean.

                  A         B                                           C               D

2. We should visit that part of the country if it will be spring.

                            A                B                                C      D

3. If I will make a difficult decision, I always discuss it with my friends.

                           A                                B                            C         D

4. We could had done more if we had had more time

                            A                     B       C         D

5. He said that if he has more time, he would come to see us.

                            A                B         C                                   D

6. Hasn't he resigned, we would have been forced to sack him.

                     A        B                                          C             D

7. If we will reduce the speed of population growth, there will be less pressure on the earth.

                              A                                             B                                      C                 D

8. Unless we leave a bowl of water under the sun, it will evaporate

                     A                           B                    C                       D

9. If we continue to use fuels at current rate, we would soon have to face a fuel crisis 

                  A                       B                                                C                            D

10. If I am 10 centimeters taller, I would play basketball.

                         A            B             C              D    

11. If the doctors could find out   the remedy, a lot of people will be saved

                  A                              B                            C                     D

12. Rita asked me why didn't I ask for my money back if I was unhappy with my new car.
                     A                      B                                                  C          D

13. If you drank less, you will feel much better.

                                        A            B             C       D
14. If the price of oil comes down, more people would use their car.
              A                                  B       C                      D

15. If you mustn’t make an emergency rescue, do not move the victim.
                       A                                        B                     C           D
16. Unless we can find new sources of energy, our life certainly be destroyed.

                             A               B                  C                                        D

17. If the little girl knew how to do it, her mother will be pleased.
                  A                          B               C             D

18. The woman could explain these sentences if she was a teacher.
         A                 B                                                         C        D

19. He could use the machine unless it is broken.

               A              B                    C    D

20. You might have enjoyed yourself if you would have gone with us.

                    A                                B   C                   D

B. SENTENCE COMPLETION:
1. If you had taken my advice, ------------------------------- 
A. we will not lose our way


B. we would not lose our way


C. we will not have lost our way

D. we would not have lost our way
2. ------------------------------- ,I would have gone there.

A. If had I known the address


B. Had I known the address


C. If I knew the address


D. If did I know the address
3. She told me that she would not have enjoyed the party  ------------------------------- 
A. if I am not there



B. if I was not
there


C. if I had not been there


D. if I were not there
4. Daisy told me ------------------------------- . she would leave for London to find a job.

A. that if she were me



B. if that she were me


C. that if she  had been me


D. that  had she  been me

5. She will be ill ------------------------------- 

A. if she doesn’t take a few days’ rest.
B. provided she takes a few days’ rest.
C. in case she takes a few days’ rest.
D. if she takes a few days’ rest.

6. ------------------------------- , he would have learned how to read.

A. If he has been able to go school as a child.  B. If he could  go  to school as a child.

C. Were he able to go  to school as a child.
  D. Had he been able to  go  to school as a child.

7. If I had enough money , ------------------------------- 
A. I will buy that house.


B. I could buy that house.


C. I can buy that house.


D. I am buy that house.

8. What would you do if you ------------------------------- ?
A. are bitten by a snake.


B. had been bitten by a snake.

C. were bitten by a snake.


D. has been bitten by a snake.

9. If Hoa had taken a rain coat , she ------------------------------- 
A. didn’t catch a cold.



B. would have caught a cold.

C. wouldn’t catch a cold.


D. wouldn’t have caught a cold.

10. If I had known you would come, ------------------------------- 

A. I would not have waited for you 

B. I would have waited for you

C. I will wait for you 



D. I would wait for you

11. ------------------------------- if you hadn’t talked to me about the problem last night.

A. I would have felt better now.

B. I would be feel better now.

C. I would have feeling better now.

D. I would feel better now.
12. ------------------------------- , we couldn’t have continued with the project.
A. Unless we had your contribution

B. Provided your contribution wouldn’t come

C. Even if you didn’t like to contribute
D. If you hadn’t contributed positively
13. We’ll be late for the meeting ------------------------------- 
A. unless we hurry up.


B. if we are in a hurry

C. unless we will hurry up


D. when we are in a hurry

14. ------------------------------- , he wouldn’t have missed the train.

A. If he listened to me
B. Unless he had listened to me
C. If he had listened to me
D. If he didn’t listen

15. ------------------------------- , they would have had what they wanted.
A. Had they arrived at the fair early
B. Supposing they were arriving at the fair early

C. Unless they arrived at the fair early
D. If they arrived at the fair early

16. ------------------------------- , the workers will stop working.
A. Unless the working conditions aren’t improved
B. If not working conditions are improved

C. If the working conditions aren’t improved
D. Unless the working conditions are improved

17. If I had known you would come, ------------------------------- 

A. I would not have waited for you.
B. I would have waited for you.

C. I will wait for you.
D. I would wait for you.

18. If we had asked her, ------------------------------- 
A. she would sing a song to us then.
B. she would have a song to us then.
C. she will have sung a song to us.
D. she would have sung a song to us.

19. I wouldn’t have got wet ------------------------------- 

A. unless we had had an umbrella with me
B. if we had had an umbrella with me.

C. if I have an umbrella with me.
D. if I had an umbrella with me.

20. If I had enough money, ------------------------------- 

A. I will buy that house. 
B. I could buy that house.

C. I can buy that house.
D. I am buy that house.

C. SENTENSE TRANSFORMATION
1. If I'd known about Josie's illness, I wouldn't have missed seeing her.

A. I saw Josie, and I knew she was ill.


B. I didn't know Josie was ill, so T saw her.

C. I didn't know Josie was ill, and I didn't see her.

D. I didn't see Josie although I knew she was ill.

2. He  spent his money carelessly and became broke.

A. If he doesn’t spend his money carelessly , he will not become broke

B. If he didn’t spend his money carelessly , he would not become broke .

C. If he hadn’t spent his money carelessly , he wouldn’t have become broke

D. If he did  spend his money carelessly , he would become broken.

3. He can’t find a good job because he doesn’t know how to use a computer.

A. If he know how to use a computer ,he can find a good job.

B. If he knew how to use a computer, he could find a good job.

C. If he had known how to use a computer, he could have found a good job.

D. If he had known how to use a computer, he could find a good job.

4. The bag was heavy, so we could not take it with us.

A. If the bag weren’t heavy, we would take it with us.

B. Unless the hadn’t been heavy , we would have taken it with us.

C. If had the bag not been heavy, we would have taken it with us.

D. Had the bag not been heavy, we would have taken it with us.

5. Ba is in hospital because he broke his leg.

A. If Ba hadn’t broken his leg , he wouldn’t be in hospital now.

B. If Ba hasn’t broken his leg , he wouldn’t be in hospital now.

C. If Ba hadn’t been broken his leg , he wouldn’t be in hospital now.

D. If Ba wasn’t broken his leg , he wouldn’t be in hospital now.

6. The man said to her " I will come to see her if I have time"

   A. The man told her (that) he will come to see her if he had time

   B. The man told her (that) he would come to see her if he has time

   C. The man told her (that) he will come to see her if he has time

   D. The man told her (that) he would come to see her if he had time

7. He asked her " What  would you say if someone stepped on your feet?"

  A. He asked her what she would say if someone stepped on her feet.

  B. He ask her what she will say if someone step on her feet.

  C. He asked her what she would have say if someone had stepped on her feet.

  D. He asked her what would she say if someone stepped on her feet.

8. They said to me " If it doesn't rain, we will  go out with you"

   A. They told me if it didn’t rain, they would go out with me

   B. They said to me if it didn’t rain, they would go out with me

   C. They told me if it doesn't rain, they will go out with me

   D. They told me if it didn’t rain, I would go out with them

9. The man asked the woman " What would you do if you were a billionaire?"

    A. The man asked the woman what  would she do if she were a billionaire.

    B. The man asked the woman what she would do if she were a billionaire.

    C. The man asked the woman what she would have done if she had been a billionaire.

    D. The man asked the woman what  would she have done if she had been a billionaire.

10. The man said to me" If you had asked me, I  would have lent you my motorbike."
    A. The man said to me if I had asked him, he would have lent me his motorbike.

    B. The man told me if I had asked him, he would have lent me his motorbike.

    C. The man told me if I  asked him, he would lent me his motorbike.

    D. The man tell me if I ask him, he will lend me his motorbike.

11. The man said to  his daughter " They would be very disappointed if you didn’t come”

A. The man told his daughter that they would be very disappointed if she didn’t come
B. The man tell his daughter that they will be very disappointed if she doesn't come
C. The man told his daughter that they would have been very disappointed if she hadn't come
D. The man told his daughter that they would be very disappointed if she  came

12. The boy said to the girl " I am sure they will understand if you explain the situation to them.”
  A. The boy told the girl that he is sure they will understand if she explain the situation to them. 

  B. The boy said to  the girl that he was sure they would understand if she explained the situation to them. 

  C. The boy told the girl that he was sure they would understand if she explained the situation to them. 

  D. The boy told that he was sure they would  have understood if she had explained the situation to them. 

13. The man said to her, “I would have come to see you if I had had time”

  A. The man told her (that) he would have come to see her if he had had time

  B. The man told her (that) he would  come to see her if he had time
 C. The man had told her (that) he would have come to see her if he had had time

  D. The man tell her (that) he will come to see her if he has time
14. We won’t get what we want if we don’t unite.
A. If we get what we want we will unite.

B. We won’t get what we want if we unite.

C. If we don’t unite, we will get what we want.
D. We won’t get what we want unless we unite.

15. If I were the Prime Minister, I would reduce taxes.
A. Were I the Prime Minister, I would reduce taxes.


B. Was I the Prime Minister, I would reduce taxes.

C. If I was the Prime Minister, I would reduce taxes.


D. I would reduce taxes unless I was the Prime Minister.

16. Unless someone has a key, we cannot get into the house.
A. We could not get into the house if someone had a key.

B. If someone does not have a key, we can only get into the house.

C. We can only get into the house if someone has a key.

D. If someone di not have a key, we could not get into the house.

17. My friend told me, “If  I were you, I would not smoke so much.”
A. My friends advised me not to smoke so much.

B. My friend warned me against smoking so much.

C. My friend prohibited me from smoking so much.

D. My friend suggested not smoking so much.

18. Babara didn’t wear the raincoat, so she got a cold.

A. If Babara wore the raincoat, she wouldn’t get a cold.

B. If Babara had worn the raincoat, she wouldn’t have got a cold.

C. If Babara has worn the raincoat, she didn’t get a cold.

D. If Babara has worn the raincoat, she won’t get a cold.

19. “If I were you, I would go to see a doctor,” David said to Claudia.

A. David advised Claudia not to go to see the doctor.

B. David advised Claudia to go to see the doctor.

C. David told Claudia to become a doctor.

D. David told Cludia that he would go to see the doctor.

20. “I would study English if I were you,” Mai’s friend said.

A. Mai’s friend advised her to study English.

B. Mai’s friend advised her to have studied English.
C. Mai’s friend said that she was like Mai.

D. Mai told her friend to study English.

IV. READING:
A. CLOZED TEXT:

Paragraph 1: Read the following passage carefully, and then select the best option A, B, C or D to complete it:

WORLD POPULATION

Projections issued in 2000 showed the world population increasing from 6.1 billion in 2000 to 7.9 billion in 2025 and 9.3 billion in 2050. "High" and "low" projections for 2025 are 8.4 billion and 7.5 billion (1)................ . The average world birth rate is projected to decline from the 1990 level of 26 per 1,000 to 22 per 1,000 at the end of the century and to 17.6 per 1,000 in 2025 (corresponding to a fall in TFR from 3.3 in 1990 to 2.4 in 2025). (2) ................ the expanding share of the population at high-mortality ages, the average world death rate is expected to decline only slightly; from 9 (per 1,000) in 1990 to 8.4 in 2025. Average world (3) ................ expectancy, however, is projected to rise from 65 years in 1990 to 71.3 years in 2025.

Wide variations in population (4) ................ will undoubtedly persist. In the developed world, population growth will continue to be very low and in some nations will even decline. Western Europe as a whole is projected to have a declining population after 2000. U.S. Census Bureau projections, assuming middle fertility and mortality levels, show  U.S. population increasing from 250 million in 1990 to 349 million in 2025 and 420 million in 2050. (5) ................ growth would be virtually zero.

1/ A. hopefully
B. shortly

C. respectively

D. totally
2/ A. In spite of

B. Because of

C. For example 

D. So as that
3/ A. life

B. living

C. live



D. alive

4/ A. height

B. development 
C. increase


D. growth
5/ A. Besides

B. Nevertheless 
C. However


D. Thereafter
Paragraph 2: Choose the word or phrase that best fits the blank space in the following passage.

Mexico City is growing quickly. In 1970, the city had about 9 million people. Now it has over 17 million. All these people are causing (1) ................ for the city. There are not enough jobs. Also, there is' not enough housing. Large families have to live together in small homes. Many homes do not have water. They also do not have bathrooms or electricity. The Mexican government is (2) ................ about all these problems. It is working hard to make (3) ................ better in the city.

Why is Mexico City growing so fast ? Where are all these people coming from? They are coming to the city from the country. Life is hard on the farms in Mexico. Most people on farms have to live a very simple life. They have no (4) ................ money for modern things. People think life in the city must be (5)................ . So they leave their farms and move to Mexico City. 

1/     A. problems 

B. matters 


C. things 


D. news

2/     A. worried 

B. interested 


C. discussed 


D. known

3/     A. duration 

B. circle  


C. live 



D. life

4/     A. bonus 


B. extra 


C. added 


D. given

5/     A. bad 


B. good 


C. better 


D. best

Paragraph 3 : Read the text below and then decide which answer –A, B, C or D– best fits each space.

In many countries in (1) ................ of industrialization, overcrowded cities present a major problem. The (2) ................ of towns is mainly caused by the drift of large numbers of people from the rural areas. The only long-term solution is to make life in the rural areas more attractive, which would (3) ................ people to stay there. This could be achieved by providing incentives for people to go and work in the villages. Moreover, (4) ................ in the rural areas, such as transportation, health and education services should be (5)................ .

1. A. progress
 
B. process 

C. procedure 
             
D. proceeding

2. A. population            
B. popularity      
C. underpopulation 
 
D. overpopulation

3. A. insist 


B. suggest

C. encourage 
 
D. persuade

4. A. equipment 

B. facilities 

C. means 
            
D. appliances

5. A. invested 

B. increased 

C. impressed 
             
D. improved

Paragraph 4 : Fill in the blank with a suitable word to complete the passage.

China is the most populous country of the world. Its (1)…………. is approximately 1.3 billion people, which is almost 22% of the  world population. The population density is high in the southeast: 43 percent of the land contains most of its population. A quarter of the population  of China is in the middle and lower parts of the Yangtze River, and the population density (2)……………663 people per square kilometer. Shanghai is China's largest city, (3)............. population density reaches 2,118 people per square kilometer.

China's population growth rate has (4)………… in the past years, although its population is still increasing. In the 1970s, the government started to implement birth (7)…………..programs to the people: late marriage, late childbearing, a one-child family, and a four-year period between two births in the countryside where each couple may have more than one child, 

1. A. pollution
 
B. population 
C. environment 
 D. land

2. A. reaches                 B. gets               
C. arrives
             D. comes

3. A. where

B. who    

C. whose 
             D. which

4. A. increased 
            B. improved

C. developed
             D. decreased

5. A. control 

B. rate 
             
C. place
             D. right

B. COMPREHENSION QUESTIONS:

Paragraph 1: Read the passage and choose one correct answer for each question.
The population of the world has increased more in modern times than in all other ages of history combined. World population totalled about 500 million in 1650. It doubled in the period from 1650 - 1680. By the year 2000, the population will be about 6.6 billion. Estimates based on research by the United Nations indicate that it will double in the twenty-five years between 1975 and the year 2000.

No one knows the limits of the population that the earth can support. Thomas Malthus, an English economist, developed a theory that became widely accepted in the nineteenth century. He suggested that because world population tended to increase more rapidly than food supply, we should continuously constrain available resources. Malthus cited wars, famines, epidemics and other disasters as in the usual limitations of  world population growth. With recent advances in science and technology, including improved agricultural methods and great progresses and in medicine, some of the limiting factors in population growth have been lessened, with obvious results. International organizations have recommended programmes to encourage general economic development that target areas along with a decrease in birth rates to effect a lasting solution.

1.  Which of the options below is the best title for the passage?

A. A Brief History of Population and Over-population
B. Limiting Factors in Population Growth

C. The United Nations' Estimate



D. Thomas Malthus's Theory

2. What is the population from the estimates based on research by the US?

A. Two million





B. Five hundred million


C. Seven billion





D. Over six billion
3. Who was Thomas Malthus?

A. A scientist






B. An economist


C. A doctor of medicine




D. A United Nations' representative

4. According to the passage, the limiting factors in population growth have been lessened because of __________.

A. precaution

B. disasters

C. improved technology

D. scarcity

5. What do most experts recommend in order to solve problems of overpopulation?

A. Medical advance and improved agricultural methods.

B. Famine and epidemic.

C. Economic development and a decline in the bith rate.

D. Conservation of available resources.

Paragraph 2: Read the passage, then choose the correct answers.
No one knows the limits of population that the earth can support. Thomas Malthus, an English economist, developed a theory that became widely accepted in the nineteenth century. He suggested that because world population tended to increase more rapidly than the food supply, a continual strain was exerted upon available resources. Malthus cited wars, famines, epidemics, and other diseases as the usual limitations of population growth.

With recent advances in science and technology, including improved

agricultural methods and great strides in medicine, some of the limiting factors in population growth have been lessened, with obvious results.

International organizations have put forward several recommendations to alleviate the problem of overpopulation, including an increase in food production, general economic development in target areas, and a decrease

in birth rate. Most experts agree that it will be necessary to combine all three recommendations in an effort to affect a lasting solution.

1. It was suggested by Thomas Malthus that _______.

A. food was in short supply because of population increase

B. The rapid growth of population led to an acute shortage of natural resources

C. Rapid population growth put a great strain on available resources

D. Pressures on natural resources will increase as we face a population explosion

2. Which of the following was not mentioned as the usual limitations of population growth? 

A. wars 

B. epidemics

C. famines 


D. agricultural methods
3. According to the passage, why has overpopulation been caused?

A. Improved technology 

B. Disasters

C. Scarcity    
         D. Precaution

4. What do most experts recommend in order to solve problems of overpopulation?

A. Famine and epidemic 

B. Economic development and a decline in birth rate

C. Medical advance and improved agricultural methods

D. Conservation of available resources

5. Which of the following is not true according to the passage?

A. The earth have enough resources to support all of its population.

B. The theory developed by Thomas Malthus was believed by most people in the 19th century.

C. Medical advance has lessened some of the limiting factors in population growth.

D. International organizations arc seeking a lasting solution to the overpopulation problem.

Paragraph 3:  Read the passage carefully, then choose the correct answers.  

The dramatic growth of the world's population in the twentieth century was on a scale without parallel in human history. Most of this growth had occurred since 1950 and was known as the population 'explosion'. Between 1950 and 1980 the world population increased from 2.5 to over 4 billion, and by the end of the twenty century the figure had risen to about 6.6 billion. Growth of this size cannot continue indefinitely. Recent forecasts suggest that the total population will level out at between 10 and 15 billion in the mid twenty first century. Already there are encouraging signs that the rate of increase in many less developed countries is beginning to slow down. 

- scale: quy mo

 - without parallel: khong co gi sanh duoc

1. According to the passage, at no period inhuman history has there

been ______.

A. a population explosion of the magnitude as the one in the twenty century

B. a universal fear about the future of man

C. as comprehensive a study of population problems as the one envisaged now

D. so much consensus among nations concerning the population of the world

2. In 2000, the world's population was about ______.

A. four billion 
B. six billion 

C. ten billion

D. fifteen billion

3. It is pointed out in the passage that the increase in the world population ______.

A. is expected to continue even faster until 2050

B. will not continue into the next century

C. has been going on noticeably since 1950

D. has been much faster in the industrialized countries

4. The phrasal verb 'level out' in line 8 means ______.

A. to make something equal      

B. to make amounts be of higher level

C. to stop moving up or down   

D. to stay at a steady level
5. It has been forecast that, by the middle of the twenty-first century _____.

A. various measures will have been taken to encourage population growth

B. the world population will be stabilized at around 10 to 15 billion

C. the population growth rate in less developed countries will be much higher

D. the rate of population increase will have doubled the 1950 rate

Paragraph 4: Read the passage and choose one correct answer for each question.
The world’s population increased from 3 billion in 1950 to 6 billion by 1999, a doubling that occurred over 40 years. The Census Bureau’s latest projections imply that population growth will continue into the 21st century, although more slowly. The world’s population is projected to grow from 6 billion in 1999 to 9 billion by 2042, an increase of 50 percent that will require 43 years.


The world’s population growth rate rose from about 1.5 percent per year from 1950 to 1951 to a peak of over 2 percent in the early 1960s due to reductions in mortality. Growth rates thereafter started to decline due to rising age at marriage as well as increasing availability and use of effective contraceptive methods. Note that changes in population growth  have not been steady. A dip in the growth rate from 1959- 1960 for instance, was due to the Great Leap Forward in China. During that time, both natural disasters and decreased agricultural output in the wake of massive social reorganization caused China’s death rate to rise sharply and its fertility rate to fall by almost half.

1. In 1959-1960, the population growth in China_________

A. increased rapidly
B. was unchanged
C. was steady
D. decreased
2. How many people did the world’s population increase between 1959 and 1999?

A. 9 billion
B. 6 billion
C. 3 billion
D. 40 billion

3. Which sentence is TRUE?

A. Population growth in the 20th  century was more than that in the 21st century.

B. The world’s population is dramatically decreasing.

C. In 1999, there are about 6 billion people all over the world.

D. Population growth in the 21st century was more than that in the 20th  century.

4. The population growth rate decrease due to________

A. reductions in mortality                
B. the effective use of birth control methods

C. good health care
D. early marriage

5. The word “require” in the text means________

A. take
B. demand
C. spent
D. pass

ANSWER KEYS

I. PRONUNCIATION:

A. Pick out the word whose underlined part is pronounced differently from that of the other words.
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	B
	C
	D
	A
	C
	B
	C
	A
	D
	A


B. Pick out the word that has the stress pattern different from that of the other words. 

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	B
	D
	C
	A
	D
	C
	D
	A
	B
	A


II. VOCABULARY AND STRUCTURE: Choose the best answer:
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	C
	D
	B
	C
	B
	A
	D
	A
	D
	A

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	C
	B
	B
	D
	C
	B
	B
	C
	C
	D

	21
	22
	23
	24
	25
	26
	27
	28
	29
	30

	A
	C
	B
	C
	B
	A
	B
	A
	B
	A

	31
	32
	33
	34
	35
	36
	37
	38
	39
	40

	B
	B
	D
	B
	B
	A
	C
	A
	D
	B

	41
	42
	43
	44
	45
	46
	47
	48
	49
	50

	C
	C
	D
	B
	C
	B
	D
	C
	C
	A

	51
	52
	53
	54
	55
	56
	57
	58
	59
	60

	B
	A
	A
	A
	A
	A
	D
	C
	B
	A


III. WRITING:

A. ERROR IDENTIFICATION   

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	B
	D
	A
	A
	B
	A
	A
	A
	C
	A

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	D
	B
	B
	D
	A
	D
	D
	C
	A
	D


B. SENTENCE COMPLETION:

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	D
	B
	C
	A
	A
	D
	B
	C
	D
	B

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	D
	D
	A
	C
	D
	B
	D
	B
	B
	B


C. SENTENSE TRANSFORMATION

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	C
	C
	B
	D
	A
	D
	A
	A
	B
	B

	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	A
	C
	A
	D
	A
	C
	A
	B
	B
	A


IV. READING:

C. CLOZED TEXT:

Paragraph 1: Read the following passage carefully, and then select the best option A, B, C or D to complete it:

	1
	2
	3
	4
	5

	C
	B
	A
	D
	D


Paragraph 2: Choose the word or phrase that best fits the blank space in the following passage.

	1
	2
	3
	4
	5

	A
	A
	D
	B
	C


Paragraph 3 : Read the text below and then decide which answer –A, B, C or D– best fits each space.

	1
	2
	3
	4
	5

	B
	D
	C
	B
	D


Paragraph 4 : Fill in the blank with a suitable word to complete the passage.

	1
	2
	3
	4
	5

	B
	A
	C
	D
	A


D. COMPREHENSION QUESTIONS:

Paragraph 1: Read the passage and choose one correct answer for each question.
	1
	2
	3
	4
	5

	A
	D
	B
	C
	C


Paragraph 2: Read the passage, then choose the correct answers.
	1
	2
	3
	4
	5

	C
	D
	A
	B
	A


Paragraph 3:  Read the passage carefully, then choose the correct answers.  

	1
	2
	3
	4
	5

	A
	B
	C
	D
	B


Paragraph 4: Read the passage and choose one correct answer for each question.
	1
	2
	3
	4
	5

	D
	C
	A
	B
	A


